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Questions:QUESTION 122Which three statements about Syslog utilization are true? (Choose three.)A.    Utilizing Syslog improves

network performance.B.    The Syslog server automatically notifies the network administrator of network problems.C.    A Syslog

server provides the storage space necessary to store log files without using router disk space.D.    There are more Syslog messages

available within Cisco IOS than there are comparable SNMP trap messages.E.    Enabling Syslog on a router automatically enables

NTP for accurate time stamping.F.    A Syslog server helps in aggregation of logs and alerts.Answer: CDFQUESTION 123A

network administrator enters the following command on a router: logging trap 3. What are three message types that will be sent to

the Syslog server? (Choose three.)A.    informationalB.    emergencyC.    warningD.    criticalE.    debugF.    errorAnswer: BDF
QUESTION 124What is the default Syslog facility level?A.    local4B.    local5C.    local6D.    local7Answer: DQUESTION 125

What command instructs the device to timestamp Syslog debug messages in milliseconds?A.    service timestamps log datetime

localtimeB.    service timestamps debug datetime msecC.    service timestamps debug datetime localtimeD.    service timestamps log

datetime msecAnswer: BQUESTION 126Refer to the exhibit. What is the cause of the Syslog output messages? A.    The EIGRP

neighbor on Fa0/1 went down due to a failed link.B.    The EIGRP neighbor connected to Fa0/1 is participating in a different EIGRP

process, causing the adjacency to go down.C.    A shut command was executed on interface Fa0/1, causing the EIGRP adjacency to

go down.D.    Interface Fa0/1 has become error disabled, causing the EIGRP adjacency to go down.Answer: CQUESTION 127

Which protocol can cause overload on a CPU of a managed device?A.    NetflowB.    WCCPC.    IP SLAD.    SNMPAnswer: D
QUESTION 128What is the alert message generated by SNMP agents called ?A.    TRAPB.    INFORMC.    GETD.    SETAnswer:
ABQUESTION 129Which three features are added in SNMPv3 over SNMPv2?A.    Message IntegrityB.    CompressionC.   

AuthenticationD.    EncryptionE.    Error DetectionAnswer: ACDQUESTION 130What are three components that comprise the

SNMP framework? (Choose three.)A.    MIBB.    agentC.    setD.    AESE.    supervisorF.    managerAnswer: ABFQUESTION 134

What SNMP message alerts the manager to a condition on the network?A.    responseB.    getC.    trapD.    captureAnswer: C
QUESTION 135What authentication type is used by SNMPv2?A.    HMAC-MD5B.    HMAC-SHAC.    CBC-DESD.    community
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